
Sp
éc

ia
lit

é
-

1r
e
gé

né
ra

le

C
om

pl
ém

en
t

su
r

le
s

fo
nc

ti
on

s

©
P
as

ca
l
B

ra
ch

et
(C

C
B

Y
N

C
SA

)

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

1
/
1
4

R
a
p
p
el

s

1.
R

ap
pe

ls

a)
G

én
ér

al
it

és

D
éfi

ni
ti

on

É
ta

nt
do

nn
é
I

un
in

te
rv

al
le

ou
un

e
ré

un
io

n
d’

in
te

rv
al

le
s

de
R,

un
e

fo
nc

ti
on

nu
m

ér
iq

ue
f

dé
fi
ni

e
su

r
I

es
t

un
e

re
la

ti
on

qu
i
à

to
ut

x
de

I
as

so
ci

e
un

u
n
iq

u
e

ré
el

,
no

té
f
(x

)
et

ap
p
el

é
im

ag
e

de
x

pa
r
f
.

N
ot

at
io

ns
p
os

si
bl

es
:

f
es

t
la

fo
nc

ti
on

dé
fi
ni

e
su

r
I

pa
r
f
(x

)
=

··
·

f
:

I
→

R
x
7→

f
(x

)
=

··
·

D
éfi

ni
ti

on

É
ta

nt
do

nn
é

un
e

fo
nc

ti
on

f
dé

fi
ni

e
su

r
I
.

P
ou

r
to

ut
ré

el
b
,
on

ap
p
el

le
an

té
cé

d
en

ts
de

b
pa

r
f
,
to

us
le

s
ré

el
s
x

de
I

(s
’i
ls

ex
is

te
nt

)
te

ls
qu

e
f
(x

)
=

b
.

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

2
/
1
4



R
a
p
p
el

s

1.
R

ap
pe

ls

E
xe

m
pl

e(
s)

S
oi

t
f

la
fo

n
ct

io
n

d
éfi

n
ie

su
r
R

p
ar

f
(x

)
=

1

x
2
+

1
.

1
L
’i
m

ag
e

d
e
√
2

p
ar

f
es

t
f
( √

2
)

=
1

√
2
2
+

1
=

1 3
.

2
L
es

an
té

cé
d
en

ts
d
e

1 4
p
ar

f
so

n
t

le
s

ré
el

s
x

te
ls

q
u
e
f
(x

)
=

1 4
.

O
r,

f
(x

)
=

1 4
⇔

1

x
2
+

1
=

1 4
⇔

x
2
+

1
=

4
⇔

x
2

=
3
⇔

x
=

√
3

ou
−
√

3
.

O
n

en
co

n
cl

u
t

q
u
e

le
s

an
té

cé
d
en

ts
d
e

1 4
p
ar

f
so

n
t
√
3

et
−
√

3
.

D
éfi

ni
ti

on

D
an

s
un

re
p
èr

e
( O

,
−→ i

,
−→ j

) ,
on

ap
p
el

le
co

ur
b
e

re
pr

és
en

ta
ti

ve
de

la
fo

nc
ti

on
f

dé
fi
ni

e
su

r
I
,
l’
en

se
m

bl
e

de
s

p
oi

nt
s
d
’a

b
sc

is
se

x
et

d
’o

rd
on

n
ée

f
(x

)
p
ou

r
to

us
le

s
x

de
I
.

N
ot

at
io

n
co

ur
an

te
:
C

f
.

U
ne

éq
ua

ti
on

ca
rt

és
ie

nn
e

de
la

co
ur

b
e

es
t
y
=

f
(x

).
O

~ı

~

x

f
(x
)

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

3
/
1
4

R
a
p
p
el

s

1.
R

ap
pe

ls

b
)

P
ar

it
é

d
’u

n
e

fo
n
ct

io
n

D
éfi

ni
ti

on

•
U

ne
fo

nc
ti

on
f

dé
fi
ni

e
su

r
un

e
pa

rt
ie

I
de

R
es

t
di

te
p
ai

re
si

I
es

t
sy

m
ét

ri
qu

e
pa

r
ra

pp
or

t
à
0

et
si

,
p
ou

r
to

ut
x

de
I
,
on

a
f
(−

x
)
=

f
(x

).
•

U
ne

fo
nc

ti
on

f
dé

fi
ni

e
su

r
un

e
pa

rt
ie

I
de

R
es

t
di

te
im

p
ai

re
si

I
es

t
sy

m
ét

ri
qu

e
pa

r
ra

pp
or

t
à
0

et
si

,
p
ou

r
to

ut
x

de
I
,
on

a
f
(−

x
)
=

−
f
(x

).

P
ro

pr
ié

té
(s

)

•
D

an
s

u
n

re
pè

re
or

th
og

on
al

,
la

co
u
rb

e
re

pr
és

en
ta

ti
ve

d’
u
n
e

fo
n
ct

io
n

pa
ir
e

es
t

sy
m

ét
ri

qu
e

pa
r

ra
pp

or
t
à

l’
ax

e
de

s
or

do
n
n
ée

s.

O
~ı

~

x
−x

f
(−

x
)
f
(x
)

•
L
a

co
u
rb

e
re

pr
és

en
ta

ti
ve

d’
u
n
e

fo
n
ct

io
n

im
pa

ir
e

es
t
sy

m
ét

ri
qu

e
pa

r
ra

pp
or

t
à

l’
or

ig
in

e
du

re
pè

re
.

O
~ı

~

x
−x

f
(−

x
)

f
(x
)

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

4
/
1
4



R
a
p
p
el

s

1.
R

ap
pe

ls

c)
D

ét
er

m
in

at
io

n
d
e

la
p
os

it
io

n
re

la
ti

ve
d
e

d
eu

x
co

u
rb

es

P
ri

nc
ip

e

P
ou

r
ét

ud
ie

r
la

p
os

it
io

n
de

s
co

ur
b
es

re
pr

és
en

ta
ti

ve
s

de
s

fo
nc

ti
on

s
f

et
g
,
on

ét
ud

ie
le

si
gn

e
de

f
(x

)
−

g
(x

).
•

Si
,
p
ou

r
to

ut
x

d’
un

in
te

rv
al

le
I
,
f
(x

)
−

g
(x

)
re

st
e

p
os

it
if

al
or

s
on

p
eu

t
co

nc
lu

re
qu

e
la

co
ur

b
e

de
f

es
t

si
tu

ée
au

de
ss

us
de

la
co

ur
b
e

de
g

su
r
I
.

•
Si

,
p
ou

r
to

ut
x

d’
un

in
te

rv
al

le
I
,
f
(x

)
−

g
(x

)
re

st
e

né
ga

ti
f
al

or
s

on
p
eu

t
co

nc
lu

re
qu

e
la

co
ur

b
e

de
f

es
t

si
tu

ée
en

de
ss

ou
s

de
la

co
ur

b
e

de
g

su
r
I
.

E
xe

m
pl

e(
s)

É
tu

de
de

la
p
os

it
io

n
re

la
ti

ve
de

s
co

ur
b
es

de
s

fo
nc

ti
on

s
f

et
g

dé
fi
ni

es
su

r
f
(x

)
=

x
2
−

2
et

g
(x

)
=

x
:

P
ou

r
to

ut
x
,
f
(x

)
−

g
(x

)
=

x
2
−

x
−

2
.
∆

=
9
>

0
.
L
e

tr
in

ôm
e

es
t

du
si

gn
e

de
a
=

1
à

l’
ex

té
ri

eu
r

de
s

ra
ci

ne
s

qu
i
so

nt
x
1
=

−
(−

1
)
−

√
9

2
×

1
=

−
1

et
x
2
=

−
(−

1
)
+

√
9

2
×

1
=

2
.

O
n

a
do

nc
la

si
tu

at
io

n
su

iv
an

te
:

x
−
∞

−
1

2
+
∞

Si
gn

e
de

f
(x
)
−
g
(x
)

+
0

−
0

+

P
os

it
io

n
re

la
ti

ve
C

f
au

de
ss

us
de

C
g

C
f

en
de

ss
ou

s
de

C
g

C
f

au
de

ss
us

de
C

g

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

5
/
1
4

F
o
n
ct

io
n
s

p
ér

io
d
iq

u
es

2.
Fo

nc
ti

on
s

pé
ri

od
iq

ue
s

a)
G

én
ér

al
it

és

D
éfi

ni
ti

on

U
ne

fo
nc

ti
on

f
dé

fi
ni

e
su

r
R

es
t

di
te

p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
T

si
p
ou

r
to

ut
x
,
f
(x

+
T
)
=

f
(x

).

C
on

sé
qu

en
ce

s

•
P
ou

r
to

ut
x
,
f
(x

+
2
T
)
=

f
(x

+
T

+
T
)
=

f
(x

+
T
)
=

f
(x

)
•

P
ou

r
to

ut
x
,
f
(x

+
3
T
)
=

f
(x

+
2
T

+
T
)
=

f
(x

+
2
T
)
=

f
(x

)
•

C
on

sé
qu

en
ce

:
si

T
es

t
un

e
p
ér

io
de

al
or

s
2
T

,
3
T

,
··

·
so

nt
au

ss
i
de

s
p
ér

io
de

s.
•

O
n

do
it

av
oi

r
au

ss
i
f
(x

−
T

+
T
)
=

f
(x

−
T
),

ce
qu

i
éq

ui
va

ut
à

di
re

qu
e
f
(x

)
=

f
(x

−
T
).

•
D

e
m

êm
e

on
a
f
(x

−
2
T
)
=

f
(x

),
f
(x

−
3
T
)
=

f
(x

),
··

·

O

~ı

~

b

x
−
T

b

x

b

x
+
T

b

x
+
2T

f
(x
)

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

6
/
1
4



F
o
n
ct

io
n
s

p
ér

io
d
iq

u
es

2.
Fo

nc
ti

on
s

pé
ri

od
iq

ue
s

P
ro

pr
ié

té
(s

)

S
i
on

co
n
n
aî

t
la

co
u
rb

e
d’

u
n
e

fo
n
ct

io
n

pé
ri

od
iq

u
e
f

de
pé

ri
od

e
T

su
r

u
n

in
te

rv
al

le
d’

am
pl

it
u
de

T
,
on

pe
u
t
re

tr
ou

ve
r

to
u
te

la
co

u
rb

e
de

f
en

eff
ec

tu
an

t
de

s
tr
an

sl
at

io
n
s

de
ve

ct
eu

r
T
i⃗,

2
T
i⃗,

··
·,

−
T
i⃗,

··
·

(c
e

qu
i
re

vi
en

t
à

eff
ec

tu
er

de
s

«
dé

ca
la

ge
s

ho
ri

zo
n
ta

u
x

»
de

T
,
2
T
,
··

·,
−
T
,
··

·)

E
xe

m
pl

e(
s)

O
n

co
n
si

d
èr

e
la

fo
n
ct

io
n

f
d
éfi

n
ie

su
r
R

et
p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
4

d
on

t
u
n

ex
tr

ai
t

d
e

la
co

u
rb

e
es

t
d
on

n
ée

ci
-d

es
so

u
s

:

−4
−3

−2
−1

1
2

3
4

5
6

7
8

9
10

11
12

−2−112 O
~ı

~

R
et

ro
u
ve

r
le

s
p
ar

ti
es

d
e

la
co

u
rb

e
co

rr
es

p
on

d
an

te
s

au
x

in
te

rv
al

le
s
[4
;
8
],

[8
;
1
2
]
et

[−
4
;
0
]
.

S
ol

u
ti

on
:

−4
−3

−2
−1

1
2

3
4

5
6

7
8

9
10

11
12

−2−112 O
~ı

~

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

7
/
1
4

F
o
n
ct

io
n
s

p
ér

io
d
iq

u
es

2.
Fo

nc
ti

on
s

pé
ri

od
iq

ue
s

b
)

C
as

d
es

fo
n
ct

io
n
s

ci
rc

u
la

ir
es

P
ro

pr
ié

té
(s

)

L
es

fo
n
ct

io
n
s,

di
te

s
ci

rc
u
la

ir
es

,
dé

fi
n
ie

s
su

r
R

pa
r
f
(x

)
=

r
c
o
s
(ω

x
+

φ
)

ou
r
si
n
(ω

x
+

φ
)

so
n
t

pé
ri

od
iq

u
es

de
pé

ri
od

e
T

=
2
π ω

.

D
ém

on
st

ra
ti
on

:
p
ou

r
to

ut
x
,
r
c
o
s
( ω

( x
+

2
π w

)
+

φ
)
=

r
c
o
s
(ω

x
+

2
π
+

φ
)
=

r
c
o
s
(ω

x
+

φ
)

et
r
si
n
( ω

( x
+

2
π w

)
+

φ
)
=

r
si
n
(ω

x
+

2
π
+

φ
)
=

r
si
n
(ω

x
+

φ
).

E
xe

m
pl

e(
s)

1
L
a

fo
n
ct

io
n

f
d
éfi

n
ie

su
r
R

p
ar

f
(x

)
=

c
o
s(
3
x
)

es
t

p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
T

=
2
π 3

.

2
L
a

fo
n
ct

io
n

f
d
éfi

n
ie

su
r
R

p
ar

f
(x

)
=

5
si
n
(2

x
−

π 4
)

es
t

p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
T

=
2
π 2

=
π
.

3
L
a

fo
n
ct

io
n

f
d
éfi

n
ie

su
r
R

p
ar

f
(x

)
=

c
o
s(

1 2
x
)

es
t

p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
T

=
2
π 1 2

=
4
π
.

4
L
a

fo
n
ct

io
n

f
d
éfi

n
ie

su
r
R

p
ar

f
(x

)
=

c
o
s(

1 3
x
)

es
t

p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
T

=
2
π 1 3

=
6
π
.

5
L
a

fo
n
ct

io
n

f
d
éfi

n
ie

su
r
R

p
ar

f
(x

)
=

c
o
s(

1 2
x
)
+

c
o
s(

1 3
x
)

es
t

p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
T

=
1
2
π

(m
u
lt

ip
le

co
m

m
u
n

d
e
4
π

et
6
π
)

.

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

8
/
1
4



T
a
u
x

d
e

v
a
ri

a
ti

o
n

d
’u

n
e

fo
n
ct

io
n

3.
T
au

x
de

va
ri

at
io

n
d’

un
e

fo
nc

ti
on

D
éfi

ni
ti

on

É
ta

nt
do

nn
é

un
e

fo
nc

ti
on

f
dé

fin
ie

su
r

un
in

te
rv

al
le

I
.
P
ou

r
to

us
ré

el
s
a

et
h
̸=

0
te

ls
qu

e
a

et
a
+

h
so

ie
nt

da
ns

I
,
on

ap
pe

lle
ta

u
x

d
e

va
ri

at
io

n
de

f
en

tr
e
a

et
a
+

h
,
le

ra
pp

or
t

f
(a

+
h
)
−

f
(a
)

h
.

P
ro

pr
ié

té
(s

)

L
e

ta
u
x

de
va

ri
at

io
n

de
f

en
tr
e
a

et
a
+

h
co

rr
es

po
n
d

au
co

effi
ci

en
t
di

re
ct

eu
r

de
la

dr
oi

te
pa

ss
an

t
pa

r
le

s
po

in
ts

de
la

co
u
rb

e
de

f
d’

ab
sc

is
se

s
a

et
a
+

h
.

P
re

u
ve

:
co

effi
ci

en
t

di
re

ct
eu

r
de

la
dr

oi
te

(A
M

)

=
di

ff
ér

en
ce

de
s

or
do

nn
ée

s
di

ff
ér

en
ce

de
s

ab
sc

is
se

s
=

f
(a

+
h
)
−

f
(a

)

a
+

h
−

a

=
f
(a

+
h
)
−

f
(a

)

h
.

A a

f
(a
)

M

a
+
h

f
(a

+
h
)

C
f

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

9
/
1
4

T
a
u
x

d
e

v
a
ri

a
ti

o
n

d
’u

n
e

fo
n
ct

io
n

3.
T
au

x
de

va
ri

at
io

n
d’

un
e

fo
nc

ti
on

P
ro

pr
ié

té
(s

)

S
i
f

es
t
cr

oi
ss

an
te

su
r

u
n

in
te

rv
al

le
I

al
or

s
po

u
r

to
u
s

ré
el

s
a

et
h
̸=

0
te

ls
qu

e
a

et
a
+

h
so

ie
n
t
da

n
s
I
,
le

ta
u
x

de
va

ri
at

io
n

de
f

en
tr

e
a

et
a
+

h
es

t
po

si
ti
f.

S
i
f

es
t
dé

cr
oi

ss
an

te
su

r
u
n

in
te

rv
al

le
I

al
or

s
po

u
r

to
u
s

ré
el

s
a

et
h
̸=

0
te

ls
qu

e
a

et
a
+

h
so

ie
n
t
da

n
s
I
,
le

ta
u
x

de
va

ri
at

io
n

de
f

en
tr

e
a

et
a
+

h
es

t
n
ég

at
if
.

D
ém

o
n
st

ra
ti

o
n

:
•

S
i
f

es
t

cr
oi

ss
an

te
su

r
I

:

si
h

>
0

al
or

s
f
(a

+
h
)
⩾

f
(a

),
d
on

c
+

︷
︸︸

︷
f
(a

+
h
)
−

f
(a

)

h ︸︷
︷︸

+

⩾
0
.

si
h

<
0

al
or

s
f
(a

+
h
)
⩽

f
(a

),
d
on

c
−

︷
︸︸

︷
f
(a

+
h
)
−

f
(a

)

h ︸︷
︷︸ −

⩾
0
.

•
S
i
f

es
t

d
éc

ro
is

sa
n
te

su
r
I

:

si
h

>
0

al
or

s
f
(a

+
h
)
⩽

f
(a

),
d
on

c
−

︷
︸︸

︷
f
(a

+
h
)
−

f
(a

)

h ︸︷
︷︸

+

⩽
0
.

si
h

<
0

al
or

s
f
(a

+
h
)
⩾

f
(a

),
d
on

c
+

︷
︸︸

︷
f
(a

+
h
)
−

f
(a

)

h ︸︷
︷︸ −

⩽
0
.

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

1
0
/
1
4



T
a
u
x

d
e

v
a
ri

a
ti

o
n

d
’u

n
e

fo
n
ct

io
n

3.
T
au

x
de

va
ri

at
io

n
d’

un
e

fo
nc

ti
on

E
xe

m
pl

e(
s)

1
C

al
cu

l
du

ta
ux

de
va

ri
at

io
n

en
tr

e
a

et
a
+

h
p
ou

r
la

fo
nc

ti
on

ca
rr

é
:

p
ou

r
to

us
ré

el
s
a

et
h
̸=

0
,

f
(a

+
h
)
−

f
(a

)

h
=

(a
+

h
)2

−
a
2

h
=

a
2
+

2
a
h
+

h
2
−

a
2

h
=

h
(2

a
+

h
)

h
=

2
a
+

h

2
C

al
cu

l
du

ta
ux

de
va

ri
at

io
n

en
tr

e
a

et
a
+

h
p
ou

r
la

fo
nc

ti
on

in
ve

rs
e

:
p
ou

r
to

us
ré

el
s
a
>

0
et

h
̸=

0
te

l
qu

e
a
+

h
>

0
,

f
(a

+
h
)
−

f
(a

)

h
=

1
a
+

h
−

1 a

h
=

a
−

(
a
+

h
)

a
(
a
+

h
)

h
=

a
−

a
−

h

h
a
(a

+
h
)
=

−
1

a
(a

+
h
)

(o
n

a
le

m
êm

e
ré

su
lt

at
si

a
>

0
)

3
C

al
cu

l
du

ta
ux

de
va

ri
at

io
n

en
tr

e
a

et
a
+

h
p
ou

r
la

fo
nc

ti
on

ra
ci

ne
ca

rr
ée

:
p
ou

r
to

us
ré

el
s
a
⩾

0
et

h
̸=

0
te

l
qu

e
a
+

h
⩾

0
,

f
(a

+
h
)
−

f
(a

)

h
=

√
a
+

h
−

√
a

h
=

√
a
+

h
−

√
a

h
×

√
a
+

h
+

√
a

√
a
+

h
+

√
a

=
a
+

h
−

a

h
( √

a
+

h
+

√
a
)

=
h

h
( √

a
+

h
+

√
a
)

=
1

√
a
+

h
+

√
a

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

1
1
/
1
4

N
o
u
v
el

le
s

fo
n
ct

io
n
s

d
e

ré
fé

re
n
ce

4.
N

ou
ve

lle
s

fo
nc

ti
on

s
de

ré
fé

re
nc

e

a)
F
on

ct
io

n
va

le
u
r

ab
so

lu
e

R
ap

pe
l

O
n

ap
p
el

le
va

le
u
r

ab
so

lu
e

d
’u

n
ré

el
x
,
le

ré
el

n
ot

é
|x

|,
te

l
q
u
e

:

si
x

⩾
0

al
or

s
|x

|=
x

;

S
i
x

<
0

al
or

s
|x

|=
−
x

.

E
x
em

p
le

s
:
|3
|=

3
;
|−

3
|=

3

•
L
a

fo
n
ct

io
n

va
le

u
r

ab
so

lu
e

es
t

la
fo

n
ct

io
n

q
u
i
à

to
u
t

ré
el

x
as

so
ci

e
|x

|.
•

E
ll
e

es
t

d
éfi

n
ie

su
r
R.

•
E
ll
e

es
t

p
ai

re
ca

r,
p
ou

r
to

u
t
x
,
|−

x
|=

x
.

(E
n

eff
et

,
si

x
⩾

0
,

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣
x ︸︷
︷︸

+

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣=
x

et

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣−
x

︸︷
︷︸ −

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣=
−
(−

x
)

et
si

x
<

0
,

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣
x ︸︷
︷︸ −

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣=
−
x

et

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣−
x

︸︷
︷︸

+

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣=
−
x
)

•
S
a

co
u
rb

e
re

p
ré

se
n
ta

ti
ve

[−
4
;
4
]
es

t
:

−4
−3

−2
−1

1
2

3
4

1234 O
~ı

~

y
=

|x
|

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

1
2
/
1
4



N
o
u
v
el

le
s

fo
n
ct

io
n
s

d
e

ré
fé

re
n
ce

4.
N

ou
ve

lle
s

fo
nc

ti
on

s
de

ré
fé

re
nc

e

b
)

F
on

ct
io

n
co

si
nu

s

•
L
a

fo
n
ct

io
n

co
si

n
u
s

es
t

la
fo

n
ct

io
n

q
u
i
à

to
u
t

ré
el

x
as

so
ci

e
c
o
s
x
.

•
E
ll
e

es
t

d
éfi

n
ie

su
r
R.

•
E
ll
e

es
t

p
ai

re
ca

r,
p
ou

r
to

u
t
x
,
c
o
s
(−

x
)
=

c
o
s
x
.

•
E
ll
e

es
t

p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
2
π

ca
r,

p
ou

r
to

u
t
x
,
c
o
s
(x

+
2
π
)
=

c
o
s
x
.

•
S
a

co
u
rb

e
re

p
ré

se
n
ta

ti
ve

su
r
[−

2
π
;
2
π
]
es

t
:

O
~ı

~

−1

1

−2
π

−
3
π 2

−π
−

π 2
π 2

π
3
π 2

2π

y
=

co
s
x

c)
F
on

ct
io

n
si

nu
s

•
L
a

fo
n
ct

io
n

si
n
u
s

es
t

la
fo

n
ct

io
n

q
u
i
à

to
u
t

ré
el

x
as

so
ci

e
si
n
x
.

•
E
ll
e

es
t

d
éfi

n
ie

su
r
R.

•
E
ll
e

es
t

im
p
ai

re
ca

r,
p
ou

r
to

u
t
x
,
si
n
(−

x
)
=

si
n
x
.

•
E
ll
e

es
t

p
ér

io
d
iq

u
e

d
e

p
ér

io
d
e
2
π

ca
r,

p
ou

r
to

u
t
x
,
si
n
(x

+
2
π
)
=

si
n
x
.

•
S
a

co
u
rb

e
re

p
ré

se
n
ta

ti
ve

su
r
[−

2
π
;
2
π
]
es

t
:

O
~ı

~

−1

1

−2
π

−
3
π 2

−π
−

π 2
π 2

π
3
π 2

2π

y
=

si
n
x

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

1
3
/
1
4

N
o
u
v
el

le
s

fo
n
ct

io
n
s

d
e

ré
fé

re
n
ce

Fi
n

du
ch

ap
itr

e

©
P
a
sc

a
l
B
ra

ch
et

(C
C

B
Y

N
C

S
A

)
C

o
m

p
lé

m
en

t
su

r
le

s
fo

n
ct

io
n
s

ht
tp

s:
//

ww
w.

xm
1m

at
h.

ne
t

1
4
/
1
4


